DATTEE
EENI=5 — <

BIERVDEINR | {PECH

H6 40 FEINFK

< guddo3EB > S a45—1 2:1 0

EF=T0T5 N

LA ZDND !

sk sk sk sk sk ok ck < RE - ¥R EE

SIEEE = >k >k >k >k >k >k >k

=] yE2 8 = = ORI | = &F | O#
1 | R ATEE F R
2 | T—)LEZ#A F R
3 | D<>2T <<>T KRENDT—T— 1N E % 1
4 160mM @ A 2 7 7
5 60m @ A 1 & 8
6 | 80m @ A 3 & 9
7 | 80m @ A 4 F 8
811 0O0O0Om @ A 5 & S
9 | 1OOmM @ A 6 & 9
10 | BRI BD/STISITEVNDT TUNDS E@ER | 125 1
11| X —/N—7/Rh—J)L 2019 1N 3 & 1
12 | TTERYDEE ZN 4 7 2
13| B8BICZ2RITJ S8 1N 5 & 1
H“4l#F=EC T S XS 1N 6 = 1
15| P T AR (AT 1N PTA 2
16 | {E=F/RIBE ') L — x | 1~3%F 1
>

< HF1E=Z0DOEBB > 13:00—14:330
=] &2 B = = Bl | % &£ | O™
17| RN —>2201 9 ED8k | 5 6F 1
18| >R DE =EAN (2 1 1
19| D50 =) E@Bk | 345 1
20007y IR IIEODARRSE ! @ A 6 9
21 |\ B —Z=—2 DO R1 > (2 2 7 1
22 | &= RIaJ L — x | 4~6%F 1




